Lessons 5-1 & 5-2 Extra Practice
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1. Find the absolute extreme values of the function f(x)=2x’=3x" -=12x on the interval [0 3]
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2. Find the absolute extreme values of f/(x) ={ ., ot on the interval [—5,4]-
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Do all work on a separate sheet of paper!
Practice
No Calculator

1. Find the antiderivative of f'(x)=3x"-2x+3if f(1)=5
2. Find the antiderivative of f'(x)= sin[%x) if f [%J =0

3. If f(x)=2x"—6x, at what point on the interval 0< x< J/3 (if any) is the tangent line to the curve
parallel to the secant line on that interval?

2016 AP Exam
No calculator:

I —6
25. Let f be a function with first derivative defined by f*(x) = J —— for x > 0. Itis known that f(1) =9 and
X"

J(3) = 11, What value of x in the open interval (1, 3) satisfies the conclusion of the Mean Value Theorem for f
MVT guecenless o/ L =
. . _ t -£c> ) i_..
on the closed interval |1, 3] ? A7« 'S & ZE X "( (X) = f_i’)_—-——-—-—.. -] l

2=

wiha ja x<g 3 =
- ' ,_5f**-s€’y'f¢3 = | 2
(A) V6 (B) V3 (© 2 (D) 5 = 2=

%L N Xa" 3 _-_\;)__ f)
n;__,{.‘: < x;-_g.- hi:fD"

) 3 ’ Ix?- 0 o J/%
29. The function f is defined by f(x) = x” +4x + 2. If g is the inverse function of fand g(2) = 0, what is the
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77. The graph of the function f is shown above. For what values of a does lim f(x) =0?
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